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Question 1

D50 ©sb0dbEgdOL dsEIHO EOMPO FsTM0Ygbgds:
Select one:

a. 099000030 dsd30L (33QOWIW FOMILOJIbYo©;

b. 9swowo LobdoMol 33esEo dd30L AoLEBIOMSZV;

C. 33500 J9d30L LMY OMIIS;
d. 5o LObIoMOL (33050 dod30L FobSTIOMIZO.

Question 2
50 BO3MWIMHI0 GHOMIBEDBOLEHMM MO gobogdol gsdmmmM30L 3MMm3EgLoL LLsRJsMIdWs©
LoFoMms:

Select one:

a. 35H5-990BH9M0L 250sLolgEgbYg byol GHmero dsdz0l dofjmgds;
b. 35%580 ¢39Ol Fo@segds;

C. 35%5do ©9bol bobdmzwrg sId0mMO 0d3ELOL oBsMYds.

Question 3
5033 LobdoMob 33wsO 35030l FYsOHMLME J0gMMGdWO JOMPBIBS dBMYIHO OMPIOMO
3988500390l 35dmbogso dsd30L BB bEIMo (AoG0ms©O) 3sMmbozol Lobdomygs

Select one:
a. 50 3g;
b. 100 3g;
c. 200 3.
d. 150 3g;

Question 4
M0 LoEOOL 0g69d5 JOMNRBIBS dMAMMO 45885003900l GHGBLBMOBoEHMEMOL dgmEg e

36536080 25353500 bl 9B9dGwG0 3603369 mds, BHMEILSE WIGZOMMZ5T0 585350
899000030 960 Iy =10 & b

Select one:

a. 12,1 5;

b. 12,5 5;

c. 11,1 5;

d. 13 .


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=I_d%3D10

Question b

9ONRIDS EOMPMOO dMYMOO 25935(0390l OMPYOOL 3MBYEHSEOVIM0 3OME]ILYOOL
bsba®A03mdoL gobMEOLOL, OM©IdOL oS IEYMTsMIMIOL bsbymdwogmds:

Select one:
a. 930M©9ds;

b. s oggmgds;
C. 0BMYds.



